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ﬁ,ﬁg TREOBEBOSILHOKRES TERFEDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREZEOHBESEILADKES
7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 756 96.79 | #nRS | 000 ~ 756 | 2.15 10.85 st 1.00 | 6.00 ~ 10.00 96.79 | TnLS | 5,00 ~ 10.00| 2.15 10.85
2 100kN/m%E#BZ5| 1.00 | 000 ~ 156 12379 |3m&EEBZD| — ~ — — — | 100kN/ %8825 | 1.00 | 10566 ~ 1600| 12379 |3m&E#Z5 -~ — — —
s 1.00 | 1.56 ~ 9.34 100.00 | #=nSt | 0.00 ~ 9.34 | 2.54 11.851 st 1.00 | 6.00 ~ 1056 100.00 | =nst | 5.00 ~ 1600 2.54 11.851
3 100kN/mi%E#82% | 1.00 | 000 ~ 124 11870 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 11.11 ~ 1600| 11870 |3m%E#Z5 -~ — — —
s 1.00 | 1.24 ~ 902 100.00 | =St | 0.00 ~ 9.02| 2.21 11.17 st 1.00 | 6.00 ~ 1111 100.00 | =nhLst | .00 ~ 1600 2.21 11.17
4 100kN/m%#8%% | 1.00 | 000 ~ 1.16| 11749 |3mEEZ3B| — ~ — — — | 100kN/ %8825 | 1.00 | 11.29 ~ 1600| 11749 |3m%E#Z5 -~ — — —
s 1.00 | 1.16 ~ 894 100.00 | #nst | 000 ~ 894 | 2.19 11.08 st 1.00 | 6.00 ~ 1129 100.00 | =nst | 6.00 ~ 1600)| 2.19 11.08
5 100kN/mi%E#2% | 1.00|0.00 ~ 299 147,66 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1057 ~ 2800| 14756 |3m&E#Z5 -~ — — —
s 1.00 | 299 ~ 1078 100.00 | =nhst | 0oo ~ 1078 2.99 15.10 st 1.00 | 6.00 ~ 1057 100.00 | =nst | 5.00 ~ 2800 2.99 15.10
P 100kN/mM#E#BZ5 | 1.00 | 000 ~ 339 1564.43 |3mZE#BZ 5| 000 ~ 020 310 15.67 | 100kN/miZ#825 | 1.00 | 1056 ~ 37.00| 154.43 |3m&E#BZ 5| 30.00 ~ 37.00| 3.10 15.67
s 1.00 | 339 ~ 1117 100.00 | #nst | 0.20 ~ 1117 3.00 16.16 st 1.00 | 6.00 ~ 1056 100.00 | =nst | 5.00 ~ 3000 3.00 15.16
- 100kN/m%E#8z5| 1.00 | 000 ~ 337 154.09 |3mE#BZ5| 000 ~ 020 3.10 15.69 | 100kN/mi%#825 | 1.00 | 1056 ~ 36.00| 154.09 |3m&E#BZ 5| 30.00 ~ 36.00| 310 15.69
s 1.00 | 337 ~ 1115 100.00 | #nst | 0.20 ~ 1115 3.00 1616 st 1.00 | 6.00 ~ 1056 100.00 | =nst | 5.00 ~ 3000 3.00 15.16
P 100kN/mM#EBZB | 1.00 | 0.00 ~ 338 1564.34 |3Im&EBZB| 000 ~ 024] 312 15.78 | 100kN/miZ#825 | 1.00 | 1054 ~ 3500| 154.34 |3m&E#BZB| 2500 ~ 35.00| 3.12 15.78
s 1.00 | 338 ~ 1117 100.00 | NS | 024 ~ 11.17]| 3.00 1616 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 5.00 ~ 2500 3.00 15.16
9 100kN/m%E#BZ5 | 1.00 | 000 ~ 292 146.30 |3mEEZD| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 10.72 ~ 2450 146.30 |3mE#BZ% -~ — — —
s 1.00 | 292 ~ 1070 100.00 | =nhst | ooo ~ 10w 283 14.31 st 1.00 | 6.00 ~ 1072 100.00 | =nst | 5.00 ~ 2450| 2.83 14.31
10 100kN/m#E#82% | 1.00)0.00 ~ 221 134.30 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 11.17 ~ 2400| 134.30 |3m%E#Z5 -~ — — —
s 1.00 | 221 ~ 9.99 100.00 | =St | 0.00 ~ 9.99 | 2.51 12.70 st 1.00 | 6.00 ~ 1117 100.00 | =hst | .00 ~ 2400 2.561 12.70
11 100kN/mi%E#82% | 1.00|0.00 ~ 199 130.80 |3mZEBAD| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1087 ~ 2000 130.80 |3m%E#Bz% - ~ — — —
s 1.00 | 199 ~ 9.78 100.00 | =nlst | 0.00 ~ 9.78 | 2.66 12.95 st 1.00 | 6.00 ~ 1087 100.00 | =nst | 5.00 ~ 2000 2.66 12.95
12 100kN/mM%#BZ % — - ~ — —|3m%TBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 4.52 56.37 | #nRS | 000 ~ 452 1.91 9.66 st 1.00 | 6.00 ~ 5.00 56.37 | =hS | 5.00 ~ 56.00)| 1.91 9.66
13 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS -~ — — —
s 1.00 | 0.00 ~ 557 69.54 | FnLSY | 0.00 ~ 557 1.93 978 st 1.00 | 6.00 ~ 6.60 69.54 | ThS | 5,00 ~ 6.60)| 1.93 978
14 100kN/mM%#BZ 5 — - ~ — —|3m%TiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 5.84 73.13 | TN | 0oo ~ 584 1.78 9.02 st 1.00 | 6.00 ~ 6.60 7313 | ThS | 6,00 ~ 6.60| 1.78 9.02
15 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ 5 -~ — — —
s 1.00 | 0.00 ~ 6.21 77.96 | FnLS | 000 ~ 000|172 8.69 st 1.00 | .00 ~ 7.20 77.96 | EnLs | 5.00 ~ 720\ 1.72 8.69
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16 100kN/m%#8%% | 1.00 | 000 ~ 1.58| 12419 |3mEEZ3| — ~ — — — | 100kN/ %8825 | 1.00 | 11.10 ~ 1800| 12419 |3m%E#Z5 -~ — — —
s 1.00 | 1.58 ~ 9.37 100.00 | =St | 0.00 ~ 9.37| 2.21 11.19 st 1.00 | .00 ~ 1110 100.00 | =St | 6,00 ~ 1800 2.21 11.19
17 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 714 90.70 | =nhLs | 000 ~ 000 1.75 8.84 st 1.00 | 6.00 ~ 9.00 90.70 | =nLS | 5,00 ~ 9.00| 1.75 8.84
18 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 697 8833 | =St | 000 ~ 697 1.89 9.6 st 1.00 | 6.00 ~ 9.00 88.33 | #nhLS | 5.00 ~ 9.00| 1.89 9.556
19 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 000 ~ 715 90.84 | =nWS | 000 ~ 7.15)| 2.44 12.31 st 1.00 | 6.00 ~ 1000 90.84 | =hS | 5.00 ~ 10.00| 2.44 12.31
20 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 715 90.86 | =nWS | 000 ~ 7.15)| 2.44 12.31 st 1.00 | 6.00 ~ 10.00 90.86 | =nLS | 5.00 ~ 10.00| 2.44 12.31
21 100kN/m%E#8z5 | 1.00 | 000 ~ 1.27| 11923 |3mzx#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 1097 ~ 1500| 11923 |3m%E#Z25 -~ — — —
s 1.00 | 1.27 ~ 9.06 100.00 | =nst | 0oo ~ 9.06 | 2.64 12.85 st 1.00 | 6.00 ~ 1097 100.00 | =nst | 5.00 ~ 1500 2.64 12.856
22 100kN/m%E#8z5 | 1.00 | 000 ~ 1.32| 11999 |3mx#8z3| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1082 ~ 1500 119.99 |3mE#BZ% - ~ — — —
s 1.00 | 1.32 ~ 9.10 100.00 | =St | 0.00 ~ 9.10 | 2.51 12.69 st 1.00 | 6.00 ~ 1082 100.00 | =nhst | 6.00 ~ 1500 2.561 12.69
23 100kN/m%E#8z5 | 1.00 | 000 ~ 1.32| 11999 |3mZz#z3| — ~ — — — | 100kN/m%E#8Z25 | 1.00 | 1082 ~ 1500 119.99 |3mE#BZ% - ~ — — —
s 1.00 | 1.32 ~ 9.10 100.00 | =St | 000 ~ 9.10 | 2.51 12.69 st 1.00 | 6.00 ~ 1082 100.00 | =nhLst | .00 ~ 1500 2.561 12.69
24 100kN/mM%E#BZ5 | 1.00 | 000 ~ 084 11261 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1053 ~ 1300| 11261 |3mE#EZS - ~ — — —
s 1.00 | 084 ~ 863 100.00 | =nhst | ooo ~ 863|220 11.14 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 5.00 ~ 1300| 2.20 11.14
25 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 743 94.91 | #nRS | 000 ~ 7.43| 2.056 10.58 st 1.00 | 6.00 ~ 10.00 94.91 | ThLS | 5,00 ~ 10.00| 2.05 10.58
% 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 477 59.50 | =hs | 0o0o ~ 000 1.71 8.67 st 1.00 | 6.00 ~ 5.00 59.50 | =h4 | 5.00 ~ 56.00)| 1.71 867
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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